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Note :— This paper is of Seventy (70) marks divided into

o0

Two (02) Sections ‘A’ and ‘B’. Attempt the
questions contained in these Sections according to
the detailed instructions given therein. Candidates
should limit their answers to the questions on the
given answer sheet. No additional (B) answer
sheet will be issued.
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Section-A
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Long Answer Type Questions
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Note:— Section ‘A’ contains Five (05) Long-answer
type questions of Nineteen (19) marks each.
Learners are required to answer any two (02)

questions only.
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1.  What is indifference curve ? Discuss indifference curve

analysis of consumer’s equilibrium.
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2.  Define demand. Explain why the demand of commodity
increases with the decrease in price and demand

decreases with the increase in price.
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3. Explain the law of variable proportions. What are its

assumptions ?
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4.  Write meaning of monopoly. How is price determined
in monopoly ?
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5. How is wages determined ? How do trade unions

influence the rate of wages ?
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Section-B
100000
Short Answer Type Questions
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Note :— Section ‘B’ contains Eight (08) Short-answer type
questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.
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Difficulties in measuring the consumer’s surplus.
0

Giffin Goods.
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Distinguish between money wages and real wages.
OoloRoIoidiooOitooobl i Omnobo
Perfectly inelastic demand.
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What is Simon’s satisfying theory ?
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Price Discrimination.
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Characteristics of perfect competition.
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Distinguish between deductive and inductive methods.
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